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1 |BAmpEE Z SE e CFU/100mL | A& s |
2 | KBRHE AR CFU/100mL | sRiih v i AR H
3 |EELRH <100 CFU/mL A H At th ¥ ivas
4 |wh <0. 01 me/L 0. 0012 <0. 0005 0. 0011
5 |i® <0. 005 mg/L <0. 0005 <0. 0005 <0. 0005
6 |48 (5D <0.05 mg/L <0. 004 <0. 004 <0. 004
7 |58 <0. 01 mg/L <0. 0025 <0. 0025 <0. 0025
8 |& <0. 001 mg/L <0. 00005 <0. 00005 <0. 00005
9 " |EiLH <0.05 mg/L <0. 002 <0. 002 <0. 002
10 |@is <1 mg/L 0.07 0.10 0.08
11 |FEERER (AN <10 mg/L 1.66 1.7 1.90
12 |Z&88E <0. 06 mg/L 0.0184 0.0194 0. 0098
13 |—EZREkKE <0.1 mg/L <0.0015 0. 0010 0.0011
14 |ZR—SHk <0.06 mg/L 0. 0050 0. 0052 0. 0042
15 |=REkK <0. 1 mg/L <0. 0025 <0. 0025 <0. 0025

SHBRCEPR. — | ZEEEYREMLS
16 |E=88K. &% | MOEIRESEER — 0. 41 0.43 0.26
Bke. RERNE) | RERLEZ MBI
17 |88 <0.05 mg/L <0.0100 <0.0100 <0.0100
18 |=8 2% <0.1 mg/L <0.0100 <0. 0100 <0.0100
19 |SEBRL <0.7 mg/L <0. 04 <0. 04 <0. 04
20 |BE <15 & <5 <5 <5
21 [iFEdE <1 NTU 0.18 0.16 0.18
22 | RFARK ERR. BK = 0 0 0
23 |ABRAI ¥ — F v F ¥
24 |pH 6.5-8.5 — 7.89 7.68 7.92




(EFBRBEKIERR

e e = : " Ny B RIK | IMEEEK | B SRK
S| & - GB;E?{;Q 2022 | WERME | “—lompm | FiAe | Fi12EH
25 |48 <0. 2 mg/L 0.108 0.069 0.078
26 |5k =03 mg/L <0.05 <0.05 <0. 05
27 | <0. 1 mg/L <0.03 0. 03 <0. 03
28 |4f <1.0 mg/L <0. 05 <0. 05 <0. 05
29 |%% <1.0 mg/L <0. 01 <0. 01 <0. 01
30 |Sik#n <250 mg/L 10. 8 12.2 12.8
31 |WRBSER <250 mg/L 15.6 15. 8 21.0
32 |IBMEMISEK <1000 mg/L 145 126 105
33 |SfEE (L1CaC03it) <450 mg/L 41 87.8 103

£ k|
34 SRR AR (L <3 me/L 0. 90 1.25 1.28
ODTI_)

35 & (KIN i) <0.5 mg/L 0. 02 0. 02 <0. 02
36 |&a RaEHE <0.5 Ba/L 0.02340.009 | 0.038+0.010 | 0. 026+0. 009
37 |2 B e 2= Bqg/L 0.098+0.013| 0.137+0.014 | 0. 129+0.014

5k B e E) =
30min, M 7KFAKE
38 |HFBER KFRIE<2, B k& mg/L 0.76 0.75 0. 71
2203, KEKkE=E
=0.05
5ok EpstE =
120min, HIkFAEK
39 |R& HKBRIE<3, HIK mg/L 0.82 0.85 0.83
'—*s%_sf._ 0.5, Rk
=0.05
40 |iRfR FHRREN<0.01 mg/L F{EMA F{EH FAEH
41 |TIEBs L RRAZSHEM<0.7| mg/L A AE A KIEA REA
5ok ket (E) =
12min, HI7KFORE
KPR{E<0.3, FHgzxk
42 |RE £8>=0.02, WEA mg/L FEH FIEH FMFEH
HitthEEER,
HETIRERESMN
i EMENEK
5ok fE Bt 8] =
30min, HIKFAFKE
43 | & 7kBE1E£0.8, HI K mg/L FI{EMH F{EH F{FEH
FE=0.1, KiEks
FE= 002
#if [IRERE. TRERHZ. REM-SHSHL4THEER, RERFERMESIIEENE.




